RGeS

Roll No.

139

Hfsd ol 3t &= : 4

No. of printed pages : 4

439(IFG)
2025

BN IR fITH (75 wreum)
AGRONOMY (PAPER-VI)
(Baa B ot wm-11 & wianfiai & fow)

(Only for Agriculture Part-II)

Y : 3 °0¢ | [ quif® : 50
Time : 3 Hours | [ Max. Marks : 50

e

Note :

(i)
(ii)
(i)
(iv)
(v)

(vi)

(ii)

(iii)

(iv)

(v)

(vi)

39 U 03 H ot 17 W & | |t wee 3rfvard &

e &1 1 98 [dhedid & e %an 2 3 6 I Mivad 3ok wed &

e 1 7 | 11 b ATl o7 IR T 81 3 I TAD BT IR 20 &l B
3Rt aifste|

TR AT 12 ¥ 14 T 7Y IRIT TR 21 T & JAP Y2 BT 33 150-200
Il & 3iarta aifsel

TS AT 15 | 17 O ard 30T U2 8| 399 & Y W2 BT IR 300 ST
& 3ifd alfae |

g W= & fere MefRa sie 396 vy sifea €1

There are in all 17 questions in this question paper. All questions are

compulsory.

Question No. 1 is multiple choice type. Question No. 2 to 6 are definite
answer type guestions.

Question No. 7 to 11 are very short answer type. Answer each of
these within 20 words.

Question No. 12 to 14 are short answer type. Answer each of these
within 150-200 words.

Question No. 15 to 17 are long answer type. Answer each of these
within 300 words.

Marks allotted to each guestion are mentioned against them.
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&g fowedia we=
(Multiple Choice Type Questions)
1. 39 Y% & P WUS b IR 1 TR ey i 1 &1 e fadew s 3TR gikdaT §
R -
Four options are given in answer of each part of this question. Write the correct
option in your answer book -

(®) g B Nars o Fad Fgayqul Hifcdd 3T &- 1
(i) T §9 @ 3Rl (i) T 3awn
(i) BrRER 378 99 & 3= (iv) feaRa smawen
The most important critical stage of wheat irrigation is-
(i) The grain formation stage (i) Milky stage
(iii) Apical root formation stage (iv) Tilring stage
(@) Fr=faRea # 3 foa fer g Riarg o &9 576 aran @2 1
(i) w=ra R (i) SeR KR
(i) U s (iv) e RS
Which of the following methods of irrigation requires less water?
(i) Filling irrigation (ii) Sprinkler irrigation
(i) Strip irrigation (iv) Basin or ring method
() W | UM WRT I8 IR 3781 ®F DiA-AT I 8l Hel Tl & - 1
(i) TEA-SRIAEIES (i) BB
(iii) IS (iv) STSeisH
Which gas is not available to the roots when the field is filled with water-
(i) Carbon dioxide (ii) Hydrogen
(iii) Oxygen (iv) Nitrogen
(6) U1 721 U WSt & 1
(i) 3R @I (i) Tdrar o
(iii) 39 P (iv) e Bl
Pusa Nanha is a species of-
(i) Grape (i) Papaya
(iii) Mango (iv) Banana
(¥) gen ufths 6 Beaget &1 T dic ©- 1
(i) e (i) 99
(iii) 3mT (iv) 3TFq
Wooly aphid is the main pest of which fruit tree-
(i) Banana (ii) Apple
(iii) Mango (iv) Guava
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(Definite Answer Type Questions)

i § Rars & gary fafer &1 9 feRae 1
Write the name of the best method of irrigation in the garden
YT HU a1 I3 BT A1 FAT &7 1
What is the name of the instrument that measures earthquakes?
U T Hiex # e 57t g &2 1
How much water is there in a cubic meter?
it & U T T BROT B? 1
What is the reason for the spiciness in chillies?
qdId | YT ST 916t USTTsH, ST UTe 91h &l Seldl &, ol SHeetidl 27 1
What is called the enzyme, found in Papaya to increase digestion power?
aifer oy ST we
(Very Short Answer Type Questions)
STATGHT=TAT T Q¥ OR T YT &Il &7 2
What is the effect of water logging on land?
@ JT 3BT I FAG & 70 DF-BIF I 3UT {6 51 Fabel &2 2
What measures can be taken to prevent drought and famine?
STedd R a1 dig Riwmg & oy vd g feiRad| 2
Write the advantage and disadvantage of flooding method of irrigation.
YHHI T B aTell S & =01 & U BT Seord BT | 2
Mention the measures to control damage caused by earthquake.
s oI emer fofer o1 o g1 welRfa SisR 2
Show the Basin method of irrigation with the help of a diagram.
oY IR 9

(Short Answer Type Questions)

ReTg STem= | 9geh WRa $oigdl & AW fiRad | U6 cgadd | onl dI A &1 g1
(discharge ) 3T ®itoTd, aﬁé’rﬁaﬁaﬁg@maﬁm‘ézsﬁ &l 4
Write the names of the main units used in irrigation water measurement. Find
the discharge of a V notch fitted in a tubewell if the height of water flowing in the
V notch is 25 cm.
YT oI SrIaT BHe o gfa vd famrT @ fbt YR yenfad ddl £ $990 JUR &g 3T
3T 3TOTEI P 4
How does soil acidity affect the growth and development of crops? What
measures will be taken to improve them?

31di/OR
3T U9 &R YT § 3R W SISt | 312! B 3T & 7t 376 IR o g+ B
Je-e el HRAT?
Explain the difference between acidic and alkaline soil. How will you manage the
above type of soil to grow a good crop? :
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14. Tr=feiRad waet & dsiie 9/ vd 30! fhel v [ & 3ot Hifoie- 1x4=4
(i) oommr (i) Hex

(i) pe : (iv) TS
Write the scientific name of the following crops and mention any one of their
variety-
(i) Cauliflower ' (i) Peas
(iii) Banana (iv) Lady finger
el 3w weA

(Long Answer Type Questions)

15. Bl Bl 76T | Bl FHITGT B dTel BRI BT Jui= PHitord| Rams sterwma o fafim
fafert olF = &2 e ves fafér @t avf= oI 6
Describe the factors affecting water demand of crops. What are the different
methods of irrigation water measurement? Describe any one method.

31[di/OR
et foereT &b aRwren AifsTe | 5w TR & YfH &t 5T Far &f snaaesd usdl &2 &l
¥ 31faRes 5@ e &g foxtt v fafer &1 avi= aifsel

Define drainage. What type of land needs drainage? Describe any one method
to remove excess water from fields.

16. f=feRad o= fewon faRaa- 2X3-6
(B) Fral BT 31 T o4
() 379 & Hell 7 Pie & Hazor
() TSt @ Uty dUR B B e

Write notes on the following-

(a) Meaning and benefits of pruning

(b) Pest control of mango Mealy Bug
(c) Method of preparing onion seedlings

17. cidb! 3101 dg, B! Tl Bl Ui frAfeiRad 2 & sicid SISt 1x6=6
(B) dsii~icp T
() a yamicat
() WE U9 3D
(') 3uat
(5) &Yl 3cTeA
() SHRAr

Describe the cultivation of Gourd or Pumpkin under the following headings-
(a) Scientific name

(b) Two varieties

(c) Manures and fertilizers

(d) Yield

(e) Seed production

(f) Diseases

%k kK %k %k X
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